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2_uiliflwev / BIOLOGY
GLD6LIHEMEV - (LPGHEVMLD 4,600T(H / HIGHER SECONDARY (FIRST YEAR)
Fmeugeailuiev / BOTANY

(SLOILD LOMMID SYMIG6D 6ULAl / Tamil & English Version)

GmyL: 1:15 LO6weN ] [ QTS

LOSILICILIGTUT&H6IT: 35

Time allowed: 1:15 Hours ] [ Minimum Marks : 35

SiNeYemr&eT: (1) SIS  ETHSHE@HLD  FHWITS  USleuTH
o GeNGM  6T6OTLGEMEN  FHUMTHHIS  CSHTETETE]LD.
SIF &L S aN6L &MU (B LILN6DT SN G5
SEUOISTEUNLILITATSIL LD 2 L 63Tq WSS Q&FesseyL.

(2 Beod VLG  H@UY  emulemenr L HGWD

TPBIUBHGD  SlaECHTEUBHGD  LILGTLGSS
Geueior(pLd. ULRIGET  eUemIeUSDHG  GIL6TE60
LIwesTU(h & &6 LD.

Instrucitons: (1) Check the question paper for fairness of printing. If there is any
lack of fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
the diagrams.

ifley - | / SECTION - |
8 x1 =8
. @My (i) SI6M60T &) Q6315 & (615 SH(G LD
elenL_WeN&&aLD.

iy Qamr@ssUULL  Breal@ oL sealley  LO&e D
SJOUL U aflenL_ulenerd GBS0 S

GO (BL6 ellenL wileneru|d GCaisal 6T(LPSHeLD.

Note: (i)  Answer all the questions.

(i) Choose the most suitable answer from the given four

alternatives and write the option code and the corresponding
answer.

[H(HLILUS / Tum over ]
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1) LedTeu(heu6TTeUMMIET 618 FWICTMUTSle FlUIMISeN6T LIGTILIEL6?

(3) LD GFEL&EITEL oY, 63T6m6l

(3h) Fol L 6mLOLIEMLI 2 (I 6UITEHEG S 60T M6

@) wrEmLhg BiHenevsaied B LUTHE QFMene
GHUGHSIBED T

(FF) el LD6WIL 6V emBLFEgement [Hlemevhim) & &S 6oTmest
Which one of the following is not the characteristic feature of cyanobacteria?
(a) they are multicellular
(b) they form colonies

(c) they form blooms in polluted water bodies
(d) they can fix atmospheric nitrogen

2)  LeoTeu(mn euesTeumm e 6TLILIGTOTL alleng G e mI UGS
SMIEILLTS &([hSLUUGEHMSI.
(&) LIHDIENSSIS SETEHLO
() @@l CaBLE 2 uNfl euMp&HmES &HPMHE
@) seNSG eurpd CHBLL & Gmeuyd
(F) &MY &6 HTeurLd
Which one of the following is considered important in the development of seed
it?
?;b:éterospory
(b) Haplontic life cycle

(c) Free living gametophyte
(d) Dependent sporophyte

3)  Hewlqel Sl lLILGSHUNOBhHE C&THHTEH CHTarmId CadiLy
Gauj&er eTeuaITM)| SHEMLDSSHLILIL (b &l6sT M6t

(&) QA&TGLUL Geuysern (o) (WPIg&F&E Ceselr

(@) eusmemt Geuysern (FF) LDGUITILOITEMBL 66U GeuT& 6l
When the storage roots occur in clusters from the base of the stem, they are
called

(a) Fasiculated roots (b) Nodulated roots

(c) Annunated roots (d) Beaded roots

4)  Netreu(heuesmeumMmIeT FIWLIMESIS 6T5HI?
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(S)) SIDUCL 6T60TLG| HL6mL M6 L SHHenHSHen L5g)
SlMLOHGI6TET SHTLDLML I LDEVTHEM6NTE ClSHT6uorL
gEFEGLOMErL 6U6ME LDEHEIS

() 6ol JFD GL6mL U6 6nLol NFH6T BH Sllg (LG
Hieo CHTSEIL euflengulled LDEVTHMENTS ClSITEHuTIY. (h SH(ELD
(@) WL ELEHT DEhTF] GL ML WITE MU HFH6L QTG
5SS Q&ML JHGLOTOY DEHFIF o @GLD
(IF) &MOUMM LVTEHMNS Q&ML JFD EhFF HHT LOEHEH
233 () COBTRIG SSN]
Which of the following is true?
(a) Umbel is a racemose inflorescence where all the stalked flower aggregate
on the flat receptacle.
(b) Raceme is a racemose inflorescence having main axis shortened and
flowers borne acropetally.
(c) Spadix is racemose inflorescence having pendulous spike with main aixs

much flattened.
(d) Spike is a racemose inflorescence having sessile flowers.

5  Famm:
() eUMSBLIUMLIqUIEL  6T6oTLIG  6UMSLL(RSHHIHL  LDMHMILD
QU &ML QSTEHuTL &)

(i)  GpoUuflemTo 6UEMSLILIMTL_Lg ULI6D 6T60TLIS)
AUMSLILGSHHHL, CQULF(BHSHL WOMID UTHSTESSHN6V
2 _elenL SH&Ig)

(&) () OHmID (i) @U@ &FFlwmeg)
(&) () FFIWLITESTS| (i) HEUMITES)

@) () HeUMMETTS (i) FFIUITET G|

(FF)) () OMID (i) @Ueun@GLd SHeummens)

Statement

0] Taxonomy governs the practices of the classification and naming

(i) Systematics governs the practices of classification, naming and
preservation

(a) Both (i) and (ii) are correct

(b) (i) is correct and (ii) is wrong

(c) (i) is wrong and (ii) is correct

(d) Both (i) and (ii) are wrong
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6) ‘SIRGL QREGLIS Hs @LUCUWITe (Flipfop movement)
SlqUuemLuwngsd  Qamau®,  Nesteubeusteummien  Ffluimen
oMMl 61HI?

() UTSMmSET SRGL @QRGLIs Hapb @Lutuwijame
Gm@smen&lement, QaT(LILSET GCLODESTeTEUECLEmEL.

(Sp) LUTSRISEHL, QaTPLILSE@HL MG QRGNS Bl
AL UQuwigemer GCLmGSTeT&6sm6or.

(@) UrsmIsE@pL, QaMPLULSEIL SIRGL QRGNS HisLpL
@L uQuuwigemen GCLMGSTe&esm6or.

() QamuysesT  SflsTs SIKEGL Q@QRGWLIs  Hs
AL UQuwirsneu GLm QS TETSH 65TM 60T, LT & M6
CLMQSTETEUS 6L M.

Regarding flip-flop movement, which one of the following statement is correct?

(a) Proteins can flip-flop, lipids cannot

(b)  Neither lipids nor proteins can flip-flop

(c) Both lipids and proteins can flip-flop
(d) Lipdis can rarely flip-flop, proteins cannt

7))  Syyublemeouned 8c Q&ML DNA, 'S HemewsGL MG
6T&HH6MEST DNA-GEHEN6ENS GSHTERUTL. (h SH(GLD?

(M) 4C (S4) 8C
(@) 64C (FF) 16C
If the initial amount of DNA is 8C then after S phase the amount of DNA would
be
(a) 4C (b) 8C
(c)64 C (d) 16C
8)  LNeareu(neussTeumMMIET 6Temed QUL 6mL& FMHSHemiL
() &ECFmery (<) fGumery
(@) sy (FF) LIF&GLmerv
Which of the following is disaccharide
(a) Sucrose (b) Ribose
(c) Starch (e) Fructose

1Nifley - 11 / SECTION - 1I
4x2 =8
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1. sT6nUCUIMILD BHT6tT@ MeTIMTESEESHEG allenLWafl&&eLD.
Answer any four of the following.
9)  Wetteu(Hd 2 uNifleoTmiGen 6T (LPMMUNED @6OTLIQIL( &GLD

QFUI&6STM6TT
(3]) FrervL () Qemip LTS
Name the method of reproduction adopted by the following organisms.
(a) Yeast (b) Filamentous algae

10)  Smeureiluied RIS 6TeleUTm)| QUMSLILML IQUIEL &H(HeNUINS
QEweLLBHHMS! 6T60TLSNGS Q(H STIWIMISM6ENS & (1hS.

Why Botanical garden serve as taxonomic aid? Give two reasons.

11)  STeUIRIS6TT TULGSH ST LNesTeU(hLOMM 2 (HLOTMHMLD
Sl6ML_[hGeITerest
(&) QBLUBSE T &H6ened
(@) ACHaITalen QeneusaSTLHleL FHevu(h
Which common plant part has been transformed into the following different
modifications.

(a) Pitcher of Nepenthes
(b) Phyllode of Acacia

12) SIH% GChyb wLOHmID GooHS  ChIL  HenL CUMID
QaevapmHAUTeT Q@ Hemevsemensd GOILNGHS

Name the two phases of cell cycle which lasts for longest and shortest span of

hours.
13)  eoWL GLmamsgorgfliim QFeL FeueedT SMLILL LIGTITL&ED6N
6T(LDSIS.

Write a specific feature about the membrane of mitochondria.
14)  WO@GHSTHL UweTURLD Q6oL mb Henev euamj&lemgLll OMMHML
QUTBL&6T Q6turg 6o CILIWLITHENENS & (hS.

Give two examples of secondary metabolites used as drugs.

ifley - 1 / SECTION - il
3x3 =9
. eTemeuGUIMID eeTm aTleméeEhsdG allenL Wiei&H&Hea|LD.
ell6orm 6T6v01. 18 -M( SH6vorigLILITS ailemL W 6afl& & eLb.
Answer any three of the following. Question No. 18 is compulsory.
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15)  “MempGIT..enLL&eMledl &(HUMISVSHES BIJ Seufluinmerg” -
Q&Famenm HwmuLILI(GSH SIS
‘Bryophytes need water for fertilization’ — Justify the statement.

16) @eLlCUHESS 2 MIUUSE@RGGSD,  SHlEM6wT 2 MILILSEHSHESLD
QoL Guiwimeet cLpeoTml GCeumILI(RLD LIGTITLSEmaT 6T(LDSIS.
Write any three distinguishing features between accessory and reproductive
organs of flowers.

17)  atpB LDMMILD rbcl 6TEOIMMEL 6T60T60T?  i6UM M6
WPESHWGHFUGHNG 6T(LDSIS.

What are atpB and rbcL? Write their significance.
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18)

GGeuwlear UMPLILILLD 61&Hmenid GM&HMH? Q&)
steueumm) @eorLiLiflewonmio QFweLUML6mL C&eMNeUTss
2 §6HMy).

What does the above figure refers to? How does this help to elucidate
mechanism of phylogeny.

19)  &&CIMENF GG 2 MILLUTES CFIWLURD CFeL
BlesTsmII L UMM GSmIOyY
6L .
Write note on organelle that acts as sequestering organelle for sucrose.
Nifley - IV / SECITON - IV
2x5 =10
IV.  SIenesrsg aNemésHEhsHGL alleml Weaflsae]Lw.
Answer all the following.
20) Wereu@pd  uemilSaflesr  Sliglilemluled gCHMID  cLp6aTm)
UGLIUSMETE &MIHSG LTHE&emeN 6L (Hs.
(&) BmLOIGen
(<p) GELbILLj6ToTE)
(&) SoFUTNemL&aT6T sT6uenT&HeMS LOMHMID SleMLDEY
(S16L6L )
Gryel &L QBIT6vOTL SreuyL LGS uneor LeuGeaum)
LO6BOTL_6VRISEDET QENTEHE 5.

Compare the three classes of algae on the basis of the following parameters
(a) Major pigment
(b) Stored food
(c) Number of flagella and their positon of insertion

(or)
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Explain the regions of positively geotropic part of the plant.

21)  eOU&LD FLeMLAID 616G HLUSMHF FMHSHE)I?
(31) LUeLeOl6UL_L LD (Sh) 216060 QILLID (§) L&IHESST6N
QILLID (F) &60&% QILLID (2) &6vfl - o &weummiest HMLUILEF
LI6GOTL|S66T 6T(LDS)IS.
(16LEVLG))

QeeoNfGFledT (PIgON6L (p QFL BTG CFLHMENG
SHEME. sTeleUemS  QFeL  LNFlHeL  6Terrd  SHevui Mih G,
UfemoSEeL SiH6T (PEHHWSHAUSHDS 61(LDGIS.

Identify the family of the plant Pisum Sativum. Write the diagnostic features based
on
(a) Calyx (b) Corolla (c) Androecium (d) Gynoecium  (e) Fruit
(or)
At the end of a cell division, a cell produces four cells. Identify the type of cell
division and mention its significance in evolution.
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BIO-ZOOLOGY
CLASS: 11

Time Allowed: 1.15 Hours Maximum Marks: 35
Instructions:

i. Check the question paper for fairness of printing.

ii. Use Blue or Black ink to write and underline and pencil to draw diagrams:

SIMEYEDTSHET: 1. JENETISHG NETIMESHEBLD FHUITEH LISlUTSH 2 6o
6T60TLIG) 60)60T
FHUMI5 5% QSmeTene]Lb.
2. heuld siLeLG HEBLULY mUTlenest L (HGLD 6T(LRGHIEUSDGLD
3lq.6CHMg (Heusm@GLD LweTU(SHS Goueior(hLd. LIL RGN
QUDTUSDE
Qu6eTHI6L LIut6oTLI(hS & 6LD.
SECTION - I (8X1=8)
Note: i. Answer all the questions.
ii. Each question carries 1 mark.

Choose the most suitable answer from the given four alternatives and write the
option code and the corresponding answer or Write the answer.

SMIIL;
) SlmetSHG aNaTEHSEh&HGL allenLiaf&H&ea] D
i) QEMTHSSULLL. BTG eNemL&afled LS 6JmLeoL Wl
aNemLufemnensd CoHIHHOSHHSHSH GMUIL(BL60T eNemLulemeuriuLd
CaIggl (RSO (SIeLEVGI) allML MW 6T(LPSHELD.
1. Molecular taxonomic tool consists of
a) DNA and RNA b) Mitochondria and ER
c) Cell wall and membrane protein d) All the above
1.epe0&FaM SlaTeileomsst eUMSLUUTL (B &(Ha&H6T SLD&HEHUIL6uTeUMMIET 6T6mS
2 _6MemLS&6TenG)|?
Sl) DNA LDMMILD RNA &) ML GL TS T6oTLq fluim

1
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@) QFeL&aI] LMMID F6l6 | LJHLD [T) GLOMSHEIL. SI6M6DTSHGILD

2. Lateral line sense organs is seen
a) salamander b) frog c) water snake d) fish
2.U868 2 60l 2 MILLSSET STurliLBD 2 uil
Sl) FEOLOMEHIIL] of) &6UEM6N @) &eor6svil) LIMLDLY ) 60T

3. Select the wrongly matched pair
a) Exocrine gland - Salivary gland
b) Endocrine gland — Hormones
c) Bones — Adipose tissue

d) Blood - Fluid connective tissue

3.56UmmesT @eneuoienit SHevor(HLillg.

Sl) BIrern(Lperner Sy - o LOPBY &

8)) Brarbleveor &y - QMMIGLOM6T& 61T
@) sTeuILbL - Sl LIGLITeNY &GS &6
F) @r&H5HLD - &gy QeneuiliLig H&s o6l

4. Kidney of frog is

a) Archinephric b) pnonephric c) mesonephric d) metanephric
4.geuemenuilest SMIBISLD 61HG UMSBEMII FMTHSHEI?

S) I6E QApLUfE o) LCIMABLRSE) WCFTABLINS [T)
QUL GLTQBLINS

5. Which one of the following is incorrectly matched?.
a) Succus entericus — Intestine
b) Renin — Kidney
c) Rennin — Stomach

d) Ptyalin — Mouth
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5. 618 HUMNS Qen6wurdhLILL (heTeng)?

3l) §556 6T6H0TL_[fl&H&Her0 - &L6L
o) Clyeviledt - SmIBrsLd
@) Qevreilest - QUM
[T)  lquledleor - 6L

6. Write the name of the animal in the given diagram
6.5DHHEIL. LIL§Sl6L 2 6men alevmiGlest CUwenrs GOILNG.

7. The plasma proteins involved in the coagulation of blood is

a) globulin b) fibrinogen ¢) albumin d) globin
7. QU&HLD 2 mMGHeNeL F(HULSHFalgll LNEMTTErVLOm LJSHLD
) &GermLedleor &) eroulflGeormegest @) SievLLbledT T
&Genmlest

8. Write the name of the enzyme involved in the given reaction at X
8.5D&6IL. elMESHE 2 S QBTH X 601  CQUWIEDT 6T(LHS.
CO, + H,O HCO,

SECTION - 1II (4X2=8)

Answer any four of the following.
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TMEUGIWIEILD BT6TEG TGS EhGE allenL e,
9. Expand the abbreviations DAISY and ABIS
9. DAISY LOMMID ABIS &(h&&5SHM&Me aNlflQunssd C&T(h&&ea L0

10. Compare schizocoelomate with enterocoelomate?

10.608GCETFCOMGLL LMMLD 61630 CHmEFECeLTGLOL. @eumenm eI .

11. List any two characteristics of Hemichordate.

1. QamismyCLLL mefler @R L6uiL&Hener e1(Lg).

12. How emphysema occur?

12. 6TDEMUELDT eTeuUTMI JOUGEMDEI?

13 Write the significance of the followings. i. Microvilli ii. Goblet cells.
13. &1p sELeumMI6T (PEEGIUSHMS 61(PGIS. i. MLSCTTONELEMEL ii.
CamiemuU 6llg el GlFeL.

14. State the deficiency disease caused by less intake of iron in our diet?

14. LD 2 cwoieled QEBLOLFFSHSH GSOMUTLLTEL UG CHITEmW 6T(LDSHIS.

SECTION - III
(3X3=9)
Answer any three of the following. Question No. 18 is compulsory.
TmeUGWIEID cpeTm  aaMeEsEhsdE alleml el aflerm 66n  18MEG
alenLweNlUg &L L MWLM GLD.
15. Label the parts A, B, C, D, E and F in the given diagram
15. Q&MRSSIUL (herten UL &L ABCDE LOMMID FOHSTEN LTSHRIGmETHESGD
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A7 YN A YL W Y I

16. List out the diagnostic features of phylum Ctenophora.
16.086MGS  lCammCUTITeme ML IITOID  SHMUT 2. HEYD  LIGIL|S606rT

UL g wWed(Hs.

17. Write the systematic positions of cockroach and frog.
17. Geuemen LMMID SJUUmeT LFHuNe euemslLTL (B Hleneodenen 61(LDSIS.

18. Construct a cladogram with the given examples. (Catfish, Frog, Crocodile, Crow,
Rabbit and Monkey)

18.Q&M(H&SLIUL_(Herern TG HHIHITL (b & (6rh L 63T 6 (h SemmGLT&INmenLD
SIEMDEHELD. (LLew6oTLieor,
SHoUeMEN, (LPGHEM6V, HMTSHLD, (UL LMMID GJRIG)

19. Tabulate the agglutinogens and agguitinins present in the different groups of

human blood.
19. evliGevilenT QrHHHHevL o 6man CleucdGalm CUMBIITET I Erblg.6oTSH6IT
LOMMILD
SIS EDL_1g Ceurme6iTsHemen LILLq.u1601(h'.
SECTION - IV (2X5=10)
Answer all the questions
AMmETEHG NS E@hGGD allenl el
20. A. How do you distinguish shark fish from cat fish?

(o)

B. i. Write down the common features of connective tissues on the basis of
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structure and function.

ii. Differentiate bones from cartilage.

20. A, &omiiene, Lieneniiesiled QpH& B steueurm Coumiui(hsGHleumii?
(S16L6VG))

B. i. Slemliy WOMID UewNuNedt SiiqLilenl_ulled @Qemewurlil Slgésafleor

QUITG| LI6VITL|S6mer
6T(LDSIS.
i. TIUIMGLD, GMISOSVILENHGLD 2 6Tem CaUMIUTL DL 6T(LRSIS.

21.A. i. Write an account on protein energy malnutrition.
ii. Add a note on role of pancreatic enzymes in protein digestion
(or)
B. i. Write a note on respiratory pigments.

ii. What are the components involved in coagulation of blood?

21. A i UpeSG@eomur G Crmusanerl ummid GOl 6T(Lp&Is.
i. Uys& Qeflesedled senewl Hrilest LmiSemertl UMM 6T(LDSIS.
(S16L6VG])
B. i &eunghimisemer ummM @MUY 6T(LDSHIS.
i. QUHHD 2 MmIHE0IL LRICHDHGLD SMJeuNge WITen6L?





